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 01 
 

1.1 
 

 

1.2 

 

 
1.3 

 

 
1.4 

 

 
1.5 
 

 
1.6 
 

 
1.7 
 

 

1.1.1  

99-101 
: C 

 1.1.2 
88-91 

: B 

2.6.1 

51-53 
: D 

2.4.2  

328-330 

: D 

3.1.1  

376-377 

: C 

3.2.1 

412-413 

: D 

4.1.1  

449-452 
: B 
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1.8 
 

 
1.9 
 

 
1.10 
 

 

(2 x 10 = 20) 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5.1.1 

512 
: C 

5.2.1  
532-533 

: C 

 6.1.1 
607/609/614/616 

: A 
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 02 
 

2.1 
 

 

(EOQ) = √(2x x )/
 

 (EOQ) = √(2 x 300,000 x 50,000)/100 =               17,321  
 ( .) = (300,000/17,321) x 50,000 =  

 
866,000.81  

: 
  ( ) 17,321/2 =           8,660.50  

  (40% x 300,000/12)        10,000.00  
         18,660.50  
 100   

 
1,866,050.00  

 

2.2 
 

 
 
 

 

 ( .) 
(i).   
       :    = 600*150%*6 
                      = 600*100%*4  
       :  = 400*150%*6 
       

 
5,400 
2,400 

    3,600 
11,400 

(ii).  
      :   = 600*50%*4  
      - :    = 400*150% *4 
        

 
1,200 

  2,400 
               3,600 

 

2.3 
 

 
 
 
 
 
 
 

 

  ( .) 
15,000  

          = . 103,000 – . 12, 000      
 

91,000 
(i)   ( .) 

=  ‒  
    ‒  
= (91,000–66,000)/(15,000‒10,000) 
    

 
 
 
 

5  
(ii)    ( .) 

15,000              = 103,000 
  (15,000*5)      = (75,000) 

                                          28,000   

 
 
 

28,000 

18,000   
                                                                      . 

  (18,000*5)       =    90,000 
                                   =    28,000 

                                          = 118,000 

 
 
 
 

118,000 

1.2.2 
148-151 

1.3.1 
201-204 

1.1.3 
118-123 
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2.4 
 

 
 
 
 
 
 

 

 . 
             161.00  
             140.00  
             112.00  
               44.80  

10%                  4.48  
               49.28  
               67.20  

                  116.48  
(VAT)                     145.60  

VAT)  167.44 
 

 

2.5 
 

 
 
 
 
 
 
 

 
 

 
(i). 
                 = 20 + 15                          =  . 35 
                         = (20+5) + (15+2)         = . 42 
     = 42 – 35                          = . 7 
 
(ii).  
                           = 2,000 *60                               = .   120,000 
                 = (2,000+500)*(60+5)          = .   162,500 
       = 162,500 – 120,000           = .    42,500  

 
 

2.6 
 
 

 
 
 
 
 
 

 
 

 (90*2 + 40*3) =  300  
 (2*16^2 + 3*5^2) =  587  

24.23  
 
 

2.7 
 

 
 
 
 
 
 
 

 
 

 (240,000 ‒ 225,000)             15,000  

( .) 72 

 15,000        1,080,000  

. 1,080,000 

2.1.1 
20-21/23 

 2.2.1 

 30-33 

2.3.1 
43-44 

3.1.3 
407-409 
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2.8 
  

 
 
 
 
 
 
 

 

  ( .) 
 = (8,000*4)*80 

 

    = 2,560,000 * 60%    

    = 2,560,000 * 40% 

2,560,000 

 

1,536,000 

1,024,000 

    = 1,536,000 / (8,000*2)  

   = 1,024,000 / (8,000*4)  

 

. 96 

. 32 

ABC = (2*96) + (4*32) . 320 

 
 
2.9 
 

 

 

 

 

 
 
 
 
 
 
 
 

 
2.10 
 

 
 
 
 
 
 
 

 
 
 

 . 

 (4,000,000/5,000) =                     800  
 (4,000*800) =         3,200,000  

        1,000,000  
        4,200,000  

        4,000,000  
 - 200,000  

 

 

3.2.2 
414-420 

5.1.2 
 520-521 

 
 

 

 

5.2.1 

542-546 
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2

 03 
 

 

(a) 
 

  
. ʽ000 

 
 (W1)        2,187.50  

 
 (70,000*11)        770.00  

 
(50,000*11)        550.00  

 
       150.00  

 
         50.00  

 
 (240,000/12)          20.00  

 
 (15*5,000*10)          750.00  

 
: 

 

  
 ( 2,500 *110*110%/5)* 10 605.00  

  
 ( 2,500 *110*110%/3.25)* 10          930.80  

 
    6,013.30  

 
 (30%) 1,803.99  

 
    7,817.29  

 
 ( 5,000 *10*50%)    25,000  

(i)  .         312.69  

    

 
W1 = ( . 15 *70%/  4 / 12) =    218.75  

 

 
10  (218.75*10) 2,187.5 

 (ii) ( ) 
 

            5.00  

 
 ( .) ( ) 

 
       312.69  

 
( .) (5 ) 

 
         62.54 

 

(b)  

(  10) 

 
 
 
 
 
 

1.4.2 
227-231 
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 04 
 

 
(a) 
 

 

                                                                                                                                                              . 

                                                                                                    =       400 

            = (250*50%)+(300*30%)+(350*20%)  =     (285) 

                                                                                      =       115 

= /  

                                = 667,000 / 115                                                                             = 5,800  
 

   = (5,000*30%)+(5,800*30%)+(10,000*40%)           =  7,240  

         = (5,000*20%)+ (5,800*55%) +(10,000*25%)         =  6,690  
 

.  
 

(iii)   
                                                                                                                              

                   = 7,240* 115                     =         832,600 
                                                                                             =       (667,000) 

                                                              =   . 165,600             
  

 (b)  

  
 

             = 50 /   400                           = 2.5  

95%  

 = 200 +/- (1.96 * 2.5) 

 = 200 – (1.96 * 2.5) ‒  200 + (1.96 * 2.5) 

 = 195.10 –   204.90  

 

 (   10) 

 

 
 
 
 
 
 
 
 
 
 
 

 2.4.2/2.5.1  

337-341/302/343/344  
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 05   
 

 

(a) 

 ( .)  ( .) 

(i) 
 (4,600,000 ‒ 1,000,000) (Y-0) 

 
(3,600,000) 1.000 (3,600,000) 

          (3,600,000*10%) (Y-10) 360,000 0.322 115,920 
         
                     1,500,000 
                           (600,000) 
                                 (100,000) 

 
 
 

800,000 

 
 
 

5.65 

 
 
 

4,520,000 

 

  1,035,920 

    

(i)  (IRR) 
IRR = a% + [ (NPVA / (NPVA+NPVB))*(b-a)%] 
       = 12% +[ (1,035,920/(1,035,920+188,080) * (20%-12%) 
       = 12% + 0.84633987 * 8% 
       = 18.77% 

  

 

 
(b) 
  . 

A = SRn * (R-1) 
       (Rn -1) 
R = 1+ (0.12/12) = 1.01 
A  = 3,600,000 * (1.01) 120  * (1.01-1) 
          1.01120 -1 
A  =118,814/ 2.30039 

   

 
 
 
 
 
 
 

. 51, 650  
, 

Sn = A(Rn‒1) 
             R‒1 
Sn = 3,600,000 * 1.01120 

Sn = 11,881,392.82 
 Sn = A(Rn‒1) 
             R‒1 
11,881,392.82 = A(1.01120 ‒ 1) 
                                           1.01‒1 
11,881,392.82 = 2.30038A 
                                       0.01 
                         A   = 51,650 

(a) 

 . 

 . 

  

( 10) 

 4.2.3 
479-490/452-454 
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 06   
 

 

(a)  

=  *  
                                  = (5,000- 4.5X)*X 
                                  = 5,000X – 4.5X2 

 (MC = MR). 
=  

                                   = 5000 – 9X 
     =  

                                = 2,000 + 1X 
                      5,000 – 9X = 2,000+ 1X 
                         -10X    = -3,000 
                               X    =  300 , 

P = 5,000 – 4.5X  
                                           P = 5,000 –  4.5 * 300 
                                           P = 5,000 – 1,350 
                                           P = . 3,650 

(b) 
   = 3,650 * 300                                                    =   . 1,095,000 

= 300,000 +(2,000*300) + 0.5 (300)2        = ( .   945,000 ) 
                                                       .     150,000 

(c) 
, 4,550 = 5,000 – 4.5X 

                                        4.5X = 450 
                                              X = 100   

   = 4,550 *100                                                     = . 455,000 
       = 300,000 + (2,000 * 100) + 0.5(100)2    = ( . 505,000) 

                                                                   = ( .  50,000) 
     

=   150,000 – (50,000)    = . 200,000 
  

.  
150,000 

. 200,000  

                           

(d) 

(i) 
 

(ii) 
 

(iii) 
 

(iv) 
 

(v) .  

     ( 10) 

  6.2.1 
624-629/632 
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 07 
 

 

(a) 
 

(i)  ( ) 
   

  
 

       5,500                5,900             6,200  

 
       2,950                3,100             3,200  

 
(2,750) (2,950) (3,100) 

 
      5,700               6,050             6,300  

 
 

(ii)  ( ) 
   

  
 

( ) 
   

 
       5,700                6,050             6,300  

 
       2,420                2,520             2,580  

 
(2,280) (2,420) (2,520) 

 
       5,840                6,150             6,360  

 
 ( )       11.68               12.30             12.72  

     
   
   
  

6,400 6,500 

  
3,250 

 
  

(3,200) 
 

 
  6,450 

  

 (b) 
 
 
 
 
 
 
 
 

b , 
b = 6 *92,080 ‒ 22,000 *25                                         

       6 * 81.08 ‒ (22,000)2 

b = 552,480  ‒ 550,000   

       486.48  ‒ 484  

b = 2,480  

       2.48  

b = 1,000       

 

 
 

 7.2.2/7.3.1/7.4.1 
 650-654/655/671/679/719-720 
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b = 1,000 
 
a = 25    ‒ 1,000 * 22,000   
            6                                        6 
a = 4.166667  ‒ 3.666667   
a = 500,000      
                     

 (Y) = a + bX       = 500,000 + 1,000X      
 

X  
 
 

(c) 
 

 
( )             5,700                   6,050  

           
6,300  

 ( )               0.50                     0.50               0.50  
 ( )               5.70                     6.05               6.30  

 ( )             6.20                  6.55             6.80 
 
 

(d) 
 

2019 
  . ʽ000 

 (  = 5,900*5,200*40%) 12,272.00  
 (5,500*5,000*60%*95%)          15,675.00  

         27,947.00  

  – (12.30*50%)            6,150.00  
 – (11.68*50%)            5,840.00  

 (6,050 * 500)            3,025.00  
           6,050.00  
              500.00  
         21,565.00  
           6,382.00  

 
(e) 

 
2019 

 

 
 

 ( ) 5,500 5,500 - 
( .) 11,000,000 11,550,000 (550,000) 

 ( .) 2,750,000 2,475,000 275,000 
 ( .) 5,500,000 5,555,000 (55,000) 
 ( .) 500,000 600,000 (100,000) 

 
       ( 20) 
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“ ˜”

“ ˜” suggested solution
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